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1. If adie is tossed 3 times then what is the probability of getting (i) two
heads and (ii) consecutive two heads?
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2. From a set of two playing cards one card from each has been drawn. Find
the probability of getting ‘Queen of Diamond’ for at least one draw.
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3. An urn contains 4 white and 6 black balls. Two balls have been drawn
consecutively without repeating the other. If the second draw contains a
white ball then what is the probability that the first draw also contains a
white ball?
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4. From a set of 52 playing cards two consecutive cards have been drawn
without any repetition. If the first drawn card is spade then what is the
probability that the second card is also spade?
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5. A box contains 1 white and 99 black ball. If 1000 draw with repetition has
been performed then find the probability of getting 10 white ball.
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6. If adie is thrown 5 times then what is the probability of getting (a) one
head, (b) at least 3 heads, (c) at most 3 heads ?
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7. Find the value of ‘K’ for which the function
_(Kx(1-x),0< x<1
fx) = { 0, Elsewhere
becomes a probability density function. Also form the probability
distribution function and find P(x > %).
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8. If a book of 500 pages contains 500 typing errors then find the probability

of at most 3 typing errors in a particular page.
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9. Let X be the random variable denoting the number appeared when a die is

thrown. Find E{g(x)}, where g(x) = 2x% + 1.
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10. If a random variable X has a probability density
_(e™%, 0< x
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then find the expectation of g(X) = e+ .

M IR BT X A9 TSR g I
x 0< x

—_ e_ 4
fx) _{ 0, o
3X
SR g(X) = e+ AFHI AT [T FFA |
11. Find the value of k for which f(x,y) = kxy, (0 <x<1,0<y<x)isa

possible two dimensional density function. Find marginal density
functions and show that the variables are not independent.
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12. If X 'and Y are two independent standard normal variate then find the
mean of X?Y?
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13. A container contains 3 red balls and 2 white balsl. A person draws 2 balls
without any repetition. If the colour of balls matches then he earn Rs. 20
otherwise he pay Rs. 20. Find the expectation of his earing money.
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14. The probability distribution function of a variable X is

1
e _p—X
F(X)z{l ze , 0< x
0, x<0

Find P(X=0) and P(X>1).
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15. What is the probability of impossible event?
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